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You have only bills in your wallet. Draw Xs on the bills needed to pay the clerk. Choose the fewest bills of 
the smallest denomination. Then subtract to find the correct change you should receive.
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COMPUTATION
Spending Money with Estimating & Making Change
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6e0=ÁÁ 6e7=ÁÁ 6e3=ÁÁ
Ricardo has 4 guitars. He puts 6 strings on each guitar. How many 
strings does he use? Write a sentence with an unknown and solve.
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 0 6 12 18 24 30 36 42 48 54 60

ENGAGEMENT
Multiply by 6

Ricardo has 4 guitars. He puts 6 strings on each guitar.  
How many strings does he use? 


